English

This is a sentence.

This is another one. The space in between the two is wider than the inter-word space.

An | abbrev. followed \ by a normal space yields a wide space.

An | abbrev. followed ‘ by “\ ” yields a normal space. This is what you usually want.

U.S. followed | by a normal space yields the same space width as. ..
U.S. followed | by “\ ”. This is because in “U.S.” the last letter before the full stop is a capital letter.

It’s healthy to eat
It’s healthy to eat

Vitamin C. The ‘ space afterwards is too narrow, though.

Vitamin C. The ‘ space afterwards is wide, as it should be in between sentences. This is

achieved by writing “Vitamin C\@. The space” instead of “Vitamin C. The space” as in the example
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above.

Deutsch

Dies ist ein Satz. Dies ist ein anderer Satz. Der Abstand zwischen den Sétzen ist der gleiche wie der

zwischen Wortern.

Eine Abk. mit anschlieendem normalen Leerzeichen bewirkt einen normalen Abstand.
Eine Abk. mit anschlieBendem ,,\ “ bewirkt ebenfalls einen normalen Abstand.



